(AL 1) MHE
SRR (B =BIR)
I X H &
(2D—) BRI R
I A X
® H ey ® H ey
T S A PR B OV A5 1) B 394, 492 o8 PR AT P 702, 857
NG NS 164, 306
VLY e JT# 4, 085
TR MR 73, 963 BT A 31, 645
FEBE « XK 49, 549 SR A TR ¢ 212
PEMZAE - FRfR < W KEE IR 129, 693
W55 24, 414 e ERT IS 71, 400
Z DA i SEN=E ¢ 60, 139
Vil 7 52 e i 0 e TR 237, 824
#riE VT = L 2,120
e PRV SRR i - R
Z Ot ESLYERESE ¢
fif S & M % 58, 593 TR A R 1,433
i BERR AR Z D 0
fif SUF X M 45, 381 Pl Bl 4 5 R 4
LR 13, 212 fil FPRFE IR T 4
PN il 2
Jifc % fi ik HE R
TR M ER 69, 847 Z D,
B 69, 847 8w BGR A R 0
HPAR Y NIy
Z Ot REBIHE
VRV 15 R (i T
BEFE AL PR R Fl7
VAR VS B S5 B T ¢ 49, 995 EERH RS T
VRV S A Ji 5 Jed
PSS 17, 237 F
A EL - R4 Z D 0
GIE JL
A H -
+ b 53, 634 —IREFI DA E




(ZD—) EE BRI

1z A X th

S

# H

& i BN
(1) — (FH)

<27
Z DAl 71,223

B 43, 864
K38 5 A 43, 864
T RbER R
VAR S S
FHCE

[l Je = M 4 639
PRIB R AT Rt E 639
KEEIRAHRE
RIS T A B &
Z Ot

VL - TETRS S 4 5, 881

EHL R T F
iR IN N

F D, 33, 947
fic 24 4>
F1-
S 5 4 25
IRl 4
= B BR
NG FEEA
SRS N 1,383
HEBER 4
HEoi A&
KSR YN
FHEk 106
Z D, 32, 458

— IR EFH D O E 224, 034

G 702, 857

o>
Wi

= g 702, 857




(B 2) B E M
(D) BRI R
I B3
H : e " i em
[ e S H 4 94, 232 R BARE P 117, 536
FEA 7% 94, 232 NG~ 89, 595
M f X 7% 8, 009
BREEMiRR © PhEMiax A A 19, 932
P - TRTAY S H 4 0 B S s e i B 364, 026
FA MR EE R EA A
M f X B EEAHEE 364, 026
BRfR ey - PRk T S R R R 0
CRESY T B F A
Sl A A 0 MBI EAEE
FEA i ax BREHEAR - PR ARk B & 0
M EEREEA A
BREEH R - PR AR A E A
JEAE it R% JEAE B R R i B
INME 275, 000 VRSN i 2
FEAS R 275, 000 HE 4
O fi X Bt
BREEfRY - (RN 0 Z Ot 0
JE A % B 4505 4
=S FeATHITE R
Z DA TR T EE
B hEES R BIR A EER S 493, 148
Z DAt 0 INME 493, 148
FERIE 2 FEA it 7% 425, 075
L TUAVE I NAPN JLAE 401, 007
FATHIE R EIR Fl+ 24, 068
EA A T i AR 0
=75 DfEF A4 JLAB
ZREE A Fl+
B REEHARE BREEMERY - (RN 68, 073
JLAE 66, 196




(ZD7) BRI RS

I A 53 i
# i e H i )
—XEZFED B DN E 605, 478 Kl 1,877
FEA % 20, 536 A iRk 0
T f AR Teé
BRETHEAR - PRAEMRR 0 -
JEA i 5% (=3 0
TR TeA
4 Fl+-
Bt Z DA 0
Z Dt 584, 942 SN
Fl+
— R R~ DA
= G 974, 710 = i 974, 710




